2.The c.g of a rectangle (or a parallelogram )is a point, where it's diagonals meet each
other .1t is also the middle point of the length as well ad breadth of the rectangle as shown in
Fig 1.1

3.The c.g., of a triangle is a point where the three medians (a median is the line connecting
the vertex and the middle point of the opposite side)of the triangle meet as shown in Fig 1.2
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4.Thec.g..0ofa r‘@\‘s\gt a&s 42—3 ?om it's base measured along the vertical
radius as sh(Wn ﬁ\?

5.The c.g.,of hemisphere is at a distance of 3r/8from it's base measured along the vertical
radius as shown in Fig 1.4
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